Run 4369 quartetwise, posH(O: Beam DH
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Run 4369 quartetwise, asym0Osub: Beam ON
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Run 4369 quartetwise, negHO: Beam DIN
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-------- Histogram Vars
Positive Hel (ON): 9.615906 +/- 0.000752
Negative Hel (ON): 9.685540 +/- 0.000758
Positive Hel (OFF): 7.335399 +/- 0.001069

Negative Hel (OFF): 7.336618 +/- 0.001060

-------- Sums and Diffs

On Diff: -0.069634 +/- 0.000855

Off Diff: -0.001219 +/- 0.001139
On Sum: 19.301446 +/- 0.001244
Off Sum: 14.672017 +/- 0.001798
-------- Asymmetries
On Asym: -15.041551 +/- -0.184786 (ppt)
Off Asym: -0.263274 +/- -0.245989 (ppt)
-------- Bkgd Subtraction
BkSub Sum: 4.629430 +/- 0.002187

BkSub Asym: -14.778277 +/- 0.307662 (ppt)
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Run 4369 quartetwise, posHO vs time
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Run 4369 quartetwise, negHO vs time

‘“Cli ii!im mi lil!! ML |
il [ 1IN
1 “I”II” o1
E_
4_
E_
_III|III|III|III|III|III|III|III|II
0 20 40 B0 80 100 120 140 160
Entry$
Run 4369 gquartetwise, bcm vs time
70—
it gy ripprapbuirpugsfioye Pl rinly ey e Pty saraling
- x ¥ : % ¥
'E'lﬂ_— * " o
- ¥ + ¥
= * *
B0— ¥ ¥
" ook #* .
- ¥ F * *
40— "
[ 3§ #* * #*
oy ¥ * ¥ %
30— "
— 3 * * #*
- 3 ]
00— ¥ * z i ¥
- ¥ % % 2
10— *
— | | | | | |
ﬂa_‘ o 20 %o ¥ 80 o0 T 143g 1su
Entryh

%10

=10



